## DE DE GRUYTER OPEN

Moroccan J. Pure and Appl. Anal.(MJPAA)

DOI 10.1515/mjpaa-2017-0005
Volume 3(1), 2017, Pages 56-62
ISSN: 2351-8227

## $m$-Convexity and Functional Equations

Teodoro Lara ${ }^{a}$, Roy Quintero ${ }^{b}$ and Edgar Rosales ${ }^{a}$


#### Abstract

In this research we aim to explore some properties of $m$-convex functions from the point of view of functional equations or better, functional inequalities. So far studies of $m$ convexity have been devoted mainly to establish properties, inequalities and examples on the topic, but not to look at the problem from the perspective of functional inequalities. 2010 Mathematics Subject Classification. 26A51, 39B62. Key words and phrases. Implicit fractional differential equation, Modified version of contraction principle, Existence, Ulam- Hyers Stability, Successive approximations.


## 1. Introduction

The concept of $m$-convex function was introduced in [15] and since then many properties, especially inequalities, have been obtained for them $[6,8,11,12]$, and many more. We present it here since is one of the key definitions, together with functional equations, used along the whole paper.

Definition 1. A function $f:[0, b] \rightarrow \mathbf{R}(b>0)$ is said to be $m$-convex in the interval $[0, b]$, $0 \leq m \leq 1$, if for any $x, y \in[0, b]$ and $t \in[0,1]$ we have

$$
\begin{equation*}
f(t x+m(1-t) y) \leq t f(x)+m(1-t) f(y) . \tag{1.1}
\end{equation*}
$$

Received August 19, 2016 - Accepted January 28, 2017.
© The Author(s) 2016. This article is published with open access by Sidi Mohamed Ben Abdallah University.
This research has been partially supported by Central Bank of Venezuela.
${ }^{a}$ Departamento de Física y Matemáticas, Universidad de los Andes, N. U. Rafael Rangel. Trujillo. Venezuela.
${ }^{b}$ Departamento de Física y Matemáticas, Universidad de Los Andes. Trujillo. Venezuela.
e-mail: tlara@ula.ve
e-mail: rquinter@ula.ve
e-mail: edgarr@ula.ve

Remark 2. In the foregoing definition it may happen that $f:[0,+\infty) \rightarrow \mathbf{R}$ and everything runs in the same fashion.

The set

$$
\{f:[0, b] \rightarrow \mathbb{R} \mid f \text { is } m \text {-convex in }[0, b] \text { and } f(0) \leq 0\}
$$

is usually denoted by $K_{m}(b)$ and in case $f:[0,+\infty) \rightarrow \mathbb{R}$, the corresponding set is named $K_{m}(+\infty)$.

We may say that the beginning of the theory of functional equations is connected with the work of an excellent specialist in this field, the Hungarian mathematician J. Aczél. In his numerous papers he treats whole classes of functional equations, gives general methods for solving them and criteria on the existence and uniqueness of solutions. He also indicates new applications of this important topic $[1,2,3,4,5]$.

Definition 3. ([9]) A functional equation is an equality, say, $T_{1}=T_{2}$ between two terms $T_{1}$ and $T_{2}$ which contains at least one unknown function and a finite number of independent variables. This equality is to be satisfied identically with respect to all occurring variables in a certain set (of any sort).

The solution of a functional equation may depend on the set in which the equation is postulated. One should also precisely state in what function class the solution is sought. The number and behavior of solutions depend on this class. It is one of the important differences between differential and functional equations $[9,10]$.

In this paper we establish some properties of $m$-convex functions from de point of view of both, funcional equations and functional inequalities.

## 2. Main Results

Here we set and prove our main results, basically we shall deal with the concept of $m$-convex function $(0<m<1)$ and the expression $t x+m(1-t) y$, where $x, y \in[0, b]$ or $x, y \in(0,+\infty)$ and, as usual, $t \in[0,1]$, even in some cases $t$ will be chosen arbitrary but in $(0,1)$.

Proposition 4. Let $f:[0,+\infty) \rightarrow \mathbb{R}$ given as $f(x)=x^{p}$, with $p \in \mathbb{R}$ and $m \in[0,1]$ fixed. The function $f$ is $m$-convex if and only if $p \geq 1$.

Proof. Let $x, y \in[0,+\infty)$, the function $f$ is in $K_{m}(+\infty)$ if and only if

$$
f(t x+m(1-t)) y) \leq t f(x)+m(1-t) f(y)
$$

or equivalently

$$
\begin{equation*}
t x^{p}+m(1-t) y^{p}-(t x+m(1-t) y)^{p} \geq 0 \tag{2.1}
\end{equation*}
$$

We may assume $y>0$, in such way that (2.1) can be rewritten as

$$
t z^{p}+m(1-t)-(t z+m(1-t))^{p} \geq 0, \text { with } z=\frac{x}{y} .
$$

Now define the function

$$
F(z)=t z^{p}+m(1-t)-(t z+m(1-t))^{p},
$$

it is easy to see that

$$
F^{\prime}(z)=p t\left[z^{p-1}-(t z+m(1-t))^{p-1}\right],
$$

hence the only critical point is $z=m$. Further,

$$
F^{\prime \prime}(z)=p(p-1) t\left[z^{p-2}-t(t z+m(1-t))^{p-2}\right]
$$

and consequently, $F^{\prime \prime}(m)=p(p-1) t m^{p-2}(1-t) \geq 0$ for any value of $t \in[0,1]$ if and only if $p \geq 1$. Therefore, for $p \geq 1, F$ has an absolute minimum at $z=m$; indeed $F(m)=$ $(1-t) m\left(1-m^{p-1}\right) \geq 0$, so $F$ is $m$-convex under this condition.

An immediate consequence of the convexity of $f(x)=x^{p}, p \geq 1$ is
Proposition 5. For $p \geq 1$, the following inequality holds

$$
(t x+(1-t) m y)^{p} \leq t x^{p}+(1-t)(m y)^{p}
$$

for every $x, y \in[0,+\infty)$ and $t \in[0,1]$.
Theorem 6. Let $m \in(0,1)$ and $F:[0, b] \rightarrow \mathbb{R}$ be a function given by $F(x)=t x+m b(1-$ $t), x \in[0, b]$, and $t \in(0,1)$ arbitrary but fixed. Then, the sequence $\left\{F^{n}(x)\right\}_{n \geq 1}$ defined recursively by $F^{1}(x)=F(x), F^{n+1}(x)=F\left(F^{n}(x)\right)$ has limit as $n \rightarrow+\infty$, actually

$$
\begin{equation*}
\lim _{n \rightarrow+\infty} F^{n}(x)=m b \tag{2.2}
\end{equation*}
$$

Proof. We shall show by induction on $n$ the following formula,

$$
\begin{equation*}
F^{n}(x)=t^{n} x+m b(1-t) \sum_{k=0}^{n-1} t^{k} \tag{2.3}
\end{equation*}
$$

For $n=1$ and $n=2,(2.3)$ follows at once. Let us assume it true for $n$ and show it for $n+1$. Indeed,

$$
F^{n+1}(x)=F\left(F^{n}(x)\right)=t F^{n}(x)+m(1-t) b=t\left[t^{n} x+m b(1-t) \sum_{k=0}^{n-1} t^{k}\right]+m(1-t) b,
$$

(the last equality because of the induction hypothesis) hence,

$$
F^{n+1}(x)=t^{n+1} x+m b(1-t)\left[\sum_{k=0}^{n-1} t^{k+1}+1\right]=t^{n+1} x+m b(1-t) \sum_{k=0}^{n} t^{k} .
$$

So (2.3) is true, in other words,

$$
F^{n+1}(x)=t^{n+1} x+m b\left[1-t^{n+1}\right]
$$

consequently, and taking into account that $0<t<1$, conclusion follows.
Remark 7. If $t=1$ then $F(x)=x$ for any $x \in[0, b]$ and, of course, $F^{n}(x)=x$, while $t=0$ makes the sequence a constant, in fact, $F^{n}(x)=m b, x \in[0, b]$.
Theorem 8. Let $m$ and $M$ be two real numbers with $0<m<1$ and $1<M, K, L$ : $[0,+\infty) \times[0,+\infty) \rightarrow[0,+\infty)$ two functions given, respectively, as

$$
K(x, y)=t x+m(1-t) y, \text { and, } L(x, y)=t x+M(1-t) y
$$

where $t \in(0,1)$ is arbitrary but fixed.
Define now two new functions $T, Q:[0,+\infty) \times[0,+\infty) \rightarrow[0,+\infty) \times[0,+\infty)$ given by

$$
T(x, y)=(K(x, y), K(y, x)), \text { and, } Q(x, y)=(K(x, y), L(x, y))
$$

respectively. Then the sets

$$
\Delta_{T}=\{(0,0)\}
$$

and

$$
\Delta_{Q}= \begin{cases}\{(0,0)\} & \text { if } M \in(1,1+m] \text { and } t \in\left(0, t_{1}\right) \cup\left(t_{1}, 1\right) \\ \{(c y, y): y \geq 0\} & \text { if } M \in(1,1+m] \text { and } t=t_{1} \\ \{(0,0)\} & \text { if } M \in(1+m,+\infty) \text { and } t \in\left(0, t_{0}\right) \\ \{(0,0)\} & \text { if } M \in(1+m,+\infty) \text { and } t=t_{0} \\ \{(0,0)\} & \text { if } M \in(1+m,+\infty) \text { and } t \in\left(t_{0}, t_{1}\right) \cup\left(t_{1}, 1\right) \\ \{(c y, y): y \geq 0\} & \text { if } M \in(1+m,+\infty) \text { and } t=t_{1}\end{cases}
$$

are the set of fixed points of $T$ and $Q$ respectively, where $t_{0}=\frac{M-1-m}{M-m}, t_{1}=\frac{M-1}{M-m}$, and $c=1-(M-m)(1-t)$.
Proof. The point $(x, y)$ is a fixed point of $T$ if and only if $T(x, y)=(x, y)$ which is equivalent to the following pair of equations

$$
t x+m(1-t) y=x, \text { and, } t y+m(1-t) x=y,
$$

now by subtracting the second equation from the first

$$
t(x-y)+m(1-t)(y-x)=x-y .
$$

If $x \neq y$ we may divide the whole expression by $x-y$ and the foregoing equation becomes $t-m(1-t)=1$, hence $m=-1$ which is impossible. Therefore the only solution is $x=y$. Then, we have the inclusion $\Delta_{T} \subseteq D:=\{(x, x): x \geq 0\}$ but the only point of $D$ that is fixed by $T$ is $(0,0)$ which proves

$$
\Delta_{T}=\{(0,0)\} .
$$

The set of fixed points of $Q$ is determined by considering the equations

$$
t x+m(1-t) y=x, \text { and }, t x+M(1-t) y=y
$$

Now we proceed as in the foregoing case by now subtracting the first equation from the second one and arrive to

$$
(M-m)(1-t) y=y-x,
$$

and from here, $x=(1-(M-m)(1-t)) y$ which indicates that $\Delta_{Q} \subseteq E:=\{(c y, y): y \geq$ $0\}$. From this point on, we will consider different conditions under which a point of set $E$ belongs to $\Delta_{Q}$. Observe that $(0,0) \in E$ always belongs to $\Delta_{Q}$. Otherwise, $(c y, y) \in \Delta_{Q}$ iff simultaneously the equations (after replacing $x$ by $c y$ and dividing by $y>0$ the original equations)

$$
t c+m(1-t)=c, \text { and, } t c+M(1-t)=1
$$

are satisfied. Observe they are equivalent to each other. Let us proceed by considering the six cases indicated above and the equation $t c+M(1-t)=1$.

1st case: $M \in(1,1+m]$ and $t \in\left(0, t_{1}\right) \cup\left(t_{1}, 1\right)$. In this case, $c>0$ but the given equation can not be solved for $t$. Then, $\Delta_{Q}=\{(0,0)\}$.

2 nd case: $M \in(1,1+m]$ and $t=t_{1}$. Now, $c>0$ and the equation has solution for $t=t_{1}$. Therefore, $\Delta_{Q}=E$

3rd case: $M \in(1+m,+\infty)$ and $t \in\left(0, t_{0}\right) . \Delta_{Q}=\{(0,0)\}$, because $c<0$ and the equation is unsolvable.

4th case: $M \in(1+m,+\infty)$ and $t=t_{0}$. Again, $\Delta_{Q}=\{(0,0)\}$, because $c=0$ and the equation is unsolvable.

5th case: $M \in(1+m,+\infty)$ and $t \in\left(t_{0}, t_{1}\right) \cup\left(t_{1}, 1\right)$. One more time, $\Delta_{Q}=\{(0,0)\}$, because the equation is unsolvable even though $c>0$.

6 th case: $M \in(1+m,+\infty)$ and $t=t_{1}$. As in the second case, $\Delta_{Q}=E$.

Observe that we can condense the part related to function $Q$ as shows next corollary.
Corollary 9. For the function $Q$ defined in Theorem 8 follows:

$$
\Delta_{Q}= \begin{cases}\{(m y, y): y \geq 0\} & \text { if } t=t_{1} \\ \{(0,0)\} & \text { if } t \in(0,1)-\left\{t_{1}\right\}\end{cases}
$$

A couple of things may be said about this result; in the case of function $T$, its set of fixed points, $\Delta_{T}=\{(0,0)\}$, differs considerably from the case when $m=1$ (classical convexity) which consists of half of the diagonal in the plane, namely, the origin and all those points with both components equal and positive. Similarly, the set $\Delta_{Q}$ is made of a half line in the first quadrant whose equation is $y=\frac{1}{m} x$ (corresponding to $t=t_{1}$ ) and just the origin for the remaining cases.

Remark 10. If we define $R:[0,+\infty) \times[0,+\infty) \rightarrow[0,+\infty) \times[0,+\infty)$ by $R(x, y)=$ $(L(x, y), L(y, x))$ is easy to verify that the only fixed point of this application is the origin
Remark 11. (1) If $t=0$ then, $K(x, y)=m y$ and $T(x, y)=(m y, m x)$. So, $\Delta_{T}=$ $\{(0,0)\}$.
(2) If $t=1$ then, $K(x, y)=x$ and $T(x, y)=(x, y)$. So, $\Delta_{T}=D$.

Remark 12. (1) If $t=0$ then, $K(x, y)=m y, L(x, y)=M y$, and $Q(x, y)=(m y, M y)$. So, $\Delta_{Q}=\{(0,0)\}$.
(2) If $t=1$ then, $K(x, y)=x, L(x, y)=x$, and $Q(x, y)=(x, x)$. So, $\Delta_{Q}=D$.

Next step is to characterize or determine which functions $f:[0,+\infty) \rightarrow \mathbb{R}$ satisfy, for given real numbers $0<m<1<M$ and $t \in[0,1]$, the following two inequalities,

$$
\begin{equation*}
f(t x+m(1-t) y) \leq t f(x)+m(1-t) f(y), x, y \geq 0 \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
f(t x+M(1-t) y) \leq t f(x)+M(1-t) f(y), x, y \geq 0 \tag{2.5}
\end{equation*}
$$

Actually the following result shows up,
Theorem 13. If $f:[0,+\infty) \rightarrow \mathbb{R}$ satisfies (2.4) and (2.5) simultaneously then $f(x)=f(1) x$, for any $x \geq 0$. In other words, the only funcional solutions of set of inequalities (2.4) and (2.5) are the linear functions.

Proof. First of all, we notice that if $f$ satisfies (2.4) and (2.5), then $f(0)=0$; now we set $u=t x+m(1-t) y, v \geq 0, s \in[0,1]$ and $t$ as in the hypothesis, hence from (2.5),

$$
f(s u+M(1-s) v) \leq s f(u)+M(1-s) f(v)
$$

or better

$$
\begin{aligned}
f(s t x+s m(1-t) y+M(1-s)) v) & \leq s f(t x+m(1-t) y)+M(1-s) f(v) \\
& \leq s t f(x)+s m(1-t) f(y)+M(1-s) f(v) \\
& =s t f(x)+[s m(1-t)+M(1-s)] f(y),
\end{aligned}
$$

the last equality holds once we set $v=y$. Therefore,

$$
f(s t x+\operatorname{sm}(1-t) y+M(1-s)) y) \leq \operatorname{stf}(x)+[\operatorname{sm}(1-t)+M(1-s)] f(y),
$$

from this inequality, if $x=0$

$$
\begin{equation*}
f((s m(1-t) y+M(1-s) y)) \leq[s m(1-t)+M(1-s)] f(y) \tag{2.6}
\end{equation*}
$$

and for $y=0$,

$$
f(s t x) \leq \operatorname{stf}(x), \text { for any } x \geq 0 \text { and } s, t \in[0,1] .
$$

Of course if, $s=1(t=1)$ then $f(t x) \leq t f(x)(f(s x) \leq s f(x)$ respectively). Choose now $s, t \in[0,1]$ in such a way that $b=m s(1-t)+M(1-s)>1, a=t$ and $\frac{\log b}{\log a}$ is irrational. Use now (2.6) and the fact that $f(t x) \leq t f(x)$ to show that

$$
f\left(a^{n} b^{m} x\right)=a^{n} b^{m} f(x), n, m \in \mathbb{N}, x \geq 0 .
$$

Because of the hypothesis assumed on $a$ and $b$ the set

$$
A=\left\{a^{n} b^{m}: n, m \in \mathbb{N}\right\}
$$

is dense in $(0,+\infty)[13,14]$; thus for any $r>0$ there exists a sequence $\left\{n_{k}, m_{k}\right\}_{k \in \mathbb{N}}$ such that $r=\lim _{k \rightarrow+\infty} a^{n_{k}} b^{m_{k}}$. But then

$$
\lim _{k \rightarrow+\infty} f\left(a^{n_{k}} b^{m_{k}} x\right) \leq \lim _{k \rightarrow+\infty} a^{n_{k}} b^{m_{k}} f(x)
$$

consequently

$$
f(r x) \leq r f(x), \text { for any } x \geq 0 \text { and } r>0 \text { arbitrary. }
$$

By considering, in this last inequality, $\frac{x}{r}$ instead $x$ and $\frac{1}{r}$ instead $r$ the following two inequalities show up,

$$
\frac{1}{r} f(x) \leq f\left(\frac{x}{r}\right), \text { and } f\left(\frac{x}{r}\right) \leq f\left(\frac{x}{r}\right)
$$

hence, $\frac{1}{r} f(x)=f\left(\frac{x}{r}\right)$, or $f(r x)=r f(x)$. The proof concludes by choosing $x=1$.

## References

[1] J. Aczél, Vorlesungen über funcktionalgleichungen und ihre anwendungen, Bassel. Stuggar, (1961).
[2] J. Aczél, Einn Blick auf Funcktionalgleichungen und ihre Anwendungen, Berlin. (1962).
[3] J. Aczél and S. Goła̧b, Funcktionalgleichungen dern Theorie der Geometrischen Objekte, Warsawa, (1960).
[4] J. Aczél and S. Gołạb and M. Kuczma and E. Siwek, Das doppelverhältnis als lösung einer Funcktionalgleichungen, Annal. Polon. Math. 9, (1960), 183-187.
[5] J. Aczél and H. Kiesewetter, Über die reduktion der stufe bei einer klasse von Funcktionalgleichungen, Publ. Math. Debrecen, 5, (1958), 348-363.
[6] S. S. Dragomir, On some new inequalities of Hermite-Hadamard type for m-convex functions, Tamkang J. of Math., vol. 33, 1, (2002), 45-55.
[7] S. S. Dragomir and G. H. Toader, Some inequalities for m-convex functions, Studia Univ. BabesBolyai, Math., vol.38, 1, (1993), 21-28.
[8] M. Klaričić Bakula and J. Pečarić and M. Ribičić, Companion inequalities to Jensen's inequality for $n$-convex and ( $\alpha, m$ )-convex functions, J. Inequal. Pure \& Appl. Math., vol. 7, 5, (2006).
[9] M. Kuczma, A survey of the theory of functional equations, Publications de la Faculté d'Electronique de la l'Université ã Belgrade, 130, (1964).
[10] M. Kuczma, An Introduction to the Theory of Functional Equations and Inequalities. Cauchy Equations and Jensen's Inequality, Second Edition. Birkhauser. Basel. Edited by Attila Gilányi, (2008).
[11] T. Lara and J. L. Sánchez and E. Rosales, New properties of m-convex functions, International Journal of Mathematical Analysis, vol. 9, 15, (2015), 735-742. .
[12] T. Lara and N. Merentes and R. Quintero and E. Rosales, On strongly m-convex functions, Mathematica Aeterna, vol. 5, 3, (2015), 521-535. .
[13] J. Matkowski, Cauchy functional equation on restricted domain and commuting functions, Iteration Theory and its Functional, Equations (Lochau 1984), Lecture Notes in Math. 1163, Springer, Berlin. (1985), 101-106.
[14] J. Matkowski, The converse of the Minkowski's inequality theorem and its generalization, Proc. Amer. Math. Soc. 109(1990), 663-675. .
[15] G. H. Toader, Some generalizations of the convexity, Proc. Colloq. Approx. Optim. Cluj-Naploca (Romania) (1984), 329-338. .

